# **COVER SHEET**

																								9 5			2	2	8 3
SEC Registration Number																													
D	М	С	Ι		Н	0	L	D	Ι	N	G	S	,	Ι	N	С													
(Company's Full Name)																													
3	R	D		F	L	R		D	Α	С	0	N		В	L	D	G			2	2	8	1						
Р	Α	S	0	N	G		Т	Α	М	0		Е	Χ	Т		М	Α	K	Α	Т	Ι		С	I	Т	Υ			
(Business Address: No., Street City / Town / Province)																													
HERBERT M. CONSUNJI 8888-3000																													
		C	ont	act l	Pers	on				-								Со	mp	any	Tel	eph	one	e Nu	ımb	er			
(3 <sup>rd</sup> Tuesday of May)																													
Mon	1   2   3   1           SEC Form 17-C         0   5   1   3             Month         Day         FORM TYPE         Month         Day																												
Fiscal Year Annual Meeting																													
									c	:eco	nda	ırv I	ice		A.	oe, I	fΔr	nlic	ahl	Δ									
				_					J	CCO	iiuc	11 <b>y</b> L	LICC	iisc	1 91	<i>J</i> C, 1		plic	Jabi								_		
C Dept I	F Real	ıirir	D na tl	_ his Γ	)oc										Δm	nend	led	Δrti	cles	Nu	mhe	or /	Ser	tion	<u> </u>				
Берсі	\cq	a	.g c	1115	,,,,											otal								20101	•				
																otai	AIII	oui	[	ЪО	HOV	virig	3						
Total	No.	of S	Stoc	kho	lder	S							D	om	esti	С						Fore	eigr	1					
							т.	a.b.			ا	i.																	
	1	1	1	ı			1 (	<u> </u>	e ac	COI	прі	ISH	eu i	у з	SEC	Pei	SOI	me	I CC	IIICE	erne	eu							
File N	ımh	er													_	_CU													
THE IN	unio	,CI													٠														
Docur	nont	- 1D													Car	shie	r												
	icil	עני.													Ca	JI 11C	•												
						į																							
	ST	ΑN	1 P S	S		į																							
						!				Do~	.ا د د	·C. F	)los	co .	100	DI A	CV :	nk 4	For :		nin	a n.	ırr	000	_				
						!				Kell	ıai K	.s. F	ied.	שכ נ	15E	BLA	CK I	IIK I	IUI S	scai	11 111 1	y pt	ıιÞ	USES	>				

## **SECURITIES AND EXCHANGE COMMISSION**

## **SEC FORM 17-C**

# CURRENT REPORT UNDER SECTION 17 OF THE SECURITIES REGULATION CODE AND SRC RULE 17.2(c) THEREUNDER

1.	July 29, 2025 Date of Report (Date of earliest event reported)								
2.	SEC Identification Number ASO95-002283 3. BIR Tax Identification No. <u>004-703-376</u>								
4.	DMCI Holdings, Inc. Exact name of issuer as specified in its charter								
5.	Philippines  Province, country or other jurisdiction of incorporation  6. (SEC Use Only)  Industry Classification Code:								
7.	3/F Dacon Building, 2281 Don Chino Roces Avenue, Makati City Address of principal office  1231 Postal Code								
8.	(632) 8888-3000 Issuer's telephone number, including area code								
9.	Not applicable Former name or former address, if changed since last report								
10.	Securities registered pursuant to Sections 8 and 12 of the SRC or Sections 4 and 8 of the RSA								
	Title of Each Class No. of Shares Outstanding Amount								
	Common Shares         13,277,470,000         Php13,277,470,000.00           Preferred Shares Class A         960         960.00           Preferred Shares Class B         10,000,000         10,000,000.00           TOTAL         13,287,470,960         Php13,287,470,960.00								
11.	Indicate the item numbers reported herein: <u>Item 9</u>								

#### Item 9. Other Events

In compliance with the Revised Disclosure Rules of the Philippine Stock Exchange (PSE), we hereby report the following DMC shares **bought** by Maria Cristina C. Gotianun, Director and Assistant Treasurer of the Corporation:

Transaction Type	Date	No. of Shares	Price/Share (Php)	Amount (Php)		
Bought (indirect)	July 25, 2025	41,600	10.620000	441,792.00		
Bought (indirect)	July 25, 2025	19,680	10.600000	208,608.00		
Bought (indirect)	July 25, 2025	11,520	10.580000	121,881.60		
Bought (indirect)	July 25, 2025	7,200	10.560000	76,032.00		
Bought (indirect)	July 25, 2025	32,800	10.540000	345,712.00		
Bought (indirect)	July 25, 2025	15,200	10.520000	159,904.00		
Bought (indirect)	July 25, 2025	25,600	10.500000	268,800.00		
Bought (indirect)	July 25, 2025	16,000	10.480000	167,680.00		
Bought (indirect)	July 25, 2025	1,600	10.460000	16,736.00		
Bought (indirect)	July 25, 2025	6,400	10.440000	66,816.00		
Bought (indirect)	July 25, 2025	1,600	10.420000	16,672.00		
Bought (indirect)	July 25, 2025	2,400	10.400000	24,960.00		
Bought (indirect)	July 25, 2025	10,400	10.620000	110,448.00		
Bought (indirect)	July 25, 2025	4,920	10.600000	52,152.00		
Bought (indirect)	July 25, 2025	2,880	10.580000	30,470.40		
Bought (indirect)	July 25, 2025	1,800	10.560000	19,008.00		
Bought (indirect)	July 25, 2025	8,200	10.540000	86,428.00		
Bought (indirect)	July 25, 2025	3,800	10.520000	39,976.00		
Bought (indirect)	July 25, 2025	6,400	10.500000	67,200.00		
Bought (indirect)	July 25, 2025	4,000	10.480000	41,920.00		
Bought (indirect)	July 25, 2025	400	10.460000	4,184.00		
Bought (indirect)	July 25, 2025	1,600	10.440000	16,704.00		
Bought (indirect)	July 25, 2025	400	10.420000	4,168.00		
Bought (indirect)	July 25, 2025	600	10.400000	6,240.00		
Total		227,000		2,394,492.00		

<sup>\*</sup>controlling shareholder of a corporation

### **SIGNATURES**

Pursuant to the requirements of the Securities Regulation Code, the issuer has duly caused this report to be signed on its behalf by the undersigned hereunto duly authorized.

<u>DMCI Holdings, Inc.</u> Issuer

JOSEPH ADELBERT V. LEGASTO
Deputy Chief Financial Officer

July 29, 2025